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ERsleupSia] 13,187,299 11,168,745 2,018,554| [= 0 = 6,600 0 Al 13,180,699]
1210
JIE&e| 7,086,544 7,063,700 22,844
1212
Oil &k 2t 2 7,086,544 7,063,700 22,844
100
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110
el 6,637,603 6,632,559 5,044
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o1t 7,300 9,500 7,800
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ZH:(1000) & B A H (1200) 8 (1240) A X & H Mg (1241)8 ™ 22| MIAIE:(120) 3 A X A S [HR AE]
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of &b o ul - A = ol =
2.8 KB AIME SO VN
3,735 3,600 135/04 SN 2HY 2|
S=AHI(H 2289 »339) 135
5,0002!x32x9 2 135
301
Qe A S 5,149 3,049 2,100
2,850 750 2,100 =)
XOHZ el X 300,00020x7H0IS = 2,100
1245
ABEITE 3,561,061 1,951,507 1,609,554
100
2 AOH A 41,161 31,161 10,000
120
A A E 2 Y| 35,157 25,157 10,000
201
U2 o 28,260 18,260 10,000
28,260 18,260 10,000
10,000
8.,00024x1, 250 10,000
200
INE=IC 1PN, 3,519,900 1,920,346 1,509,554
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O & 9 &t = J| =
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220
KEAIAFS 3,519,900 1,920,346 1,599,554
401
AMEHIZLE 2,819,900 1,530,346 1,289,554
CHH|
2,810,000 1,525,000 1,285,000/01 Al&H|
ocSHMSAE &5 ¥ 224(PO0L)
2 & (40,000,000&x141)-J1 & (20,000,000 x14l) = 20,000
oEol OHatel ot= & OIS0t X & Z AH(L=300m
50,000,000& x 14 = 50,000
oS0l @&E22 ot4+E L OIsSet2 EEZAHL=100m)
20,000,000& x 14 = 20,000
oEoll thed22l M& &Y 3 AHL=150m)
30,000, 000& x 14! = 30,000
oE0ll &2l =2 & X3 AH(L=200m)
30,000, 000& x 14! = 30,000
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30,000,000 x 14! = 30,000
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opld E422 02t M 2D 3 AHL=350m)
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ot = pl S| H imi
O & 9 &t = J| =
&2 & HME L NAE =2 ol &b oM = A 2

30,000,000 x 14! = 30,000
o=E AMA2l £012 U2 A B AHL=1,000m)

100,000, 000& x 14 = 100,000
oJ|E &2l MA HUlSAHL=200m)

50,000,000& x 14 = 50,000
oJ|g &gJl22l S22 & X2 AHL=200m)

50,000,000& x 14 = 50,000
oAstE RE A SAMZ SUNSAE EX3AH205)

20,000,000& x 14 = 20,000
oIS OIEAX oH2UEZ B2Z2AHL=200m)

40,000,000& x 14! = 40,000
o= AE|IS BXEX ¥ =2 SIEZEZAH(L=250m

50,000, 000& x 14! = 50,000
o2LEE UISHS MESAIE AXZAl

40,000,000& x 14! = 40,000

9,900 5,346 4 55403 AlE20HH]

oAPET0=2AAY A2

1,265,000,000&x0.36/100 = 4,554

402
012 X2 0] 700,000 390,000 310,000

-~

_18_




ZH:(1000) LB A H| 201 (1200) 2 BHEd & ] 8 (1240) AHXI & E NIE: (1245) A3 I E HIAIE: (220) RHRIAHE (= J[ES ]
ni; = Jl = ] i
of & o At = ) =
D2 B N M = I R
700,000 390,000 310,000/01 212X E
SEH T2 0SB BLTA
15,000,0002x 14! = 15,000
SZ8 DIAH2l 0FS32 B2 A
10,000,0002x 14! = 10,000
oE8f T222l OIS AYBA
60,000,0002x14! = 60,000
o8 =12l 0S5 BL2A
20,000,0002x14! = 20,000
oM Pre22| DI2E® AYBA
60,000,0002x14! = 60,000
oH5t 01Jt2] OHSElR B4 A
20,000,00021x14! = 20,000
oEEH Towe| 023 BLTA
15,000,00021x 14! = 15,000
oI 212l 0SB AYTA
60,000, 00021 x14! = 60,000
SIIH XIHzE D28 B4TA
30,000, 000! x 14} = 30,000
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2 & (220&x70,00021x23] )-J1 & (190&x70,00024x223] )

~=QIAL, AP A

2 & (220&x6,000Hx17EHS)
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